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1. Igneous( ‘K HHY) rock _ from the cooling and solidification of molten(45f£#J) mat-
ter from the Earth’s interior.
[A] being originated [B] have originated [C] originates [D] originating
2. Although she law for only a little over eight years, Florence Allen became in 1922
the first woman to sit on a state supreme court.
[A] will practice [C] had practiced
[B] practices [D] has been practicing
3. The metal bar was supposed ~~ to the right size.
[A] to be cut down [C] to have been cut down
[B] to have cut down [D] to cut down
4. Smith is to study medicine as soon as he military service.
[A] will finish [B] has finished [C] finish [D] would finish
5. At this time tomorrow we  for you in the office.
[A] shall have waited [B] wait [C] shall be waiting [D] will wait
6. There’s no running away from the facts; they just have to .
[A] face up [B] be faced up [C] facing up to [D] be faced up to
7. By the end of this month, the generating set for a whole year.
[A] will run [C] runs
[B] has run [D] will have been running
8. “Did you write to Grace last summer?”
“No, but I'll her over Christmas vacation.”
[A] be seen [C] have seen
[B] be seeing [D] have been seeing
9. Once you that brand of whisky, you will never want to drink any other.
[A] drunk [B] have drunk [C] will drink [D] drank
(EFXE]
1. [Cl. oM TR ZEMAR, NixH — KA,

O HTAIEETY AR ER TR, UTH. —TRIE



[Cl. Ay Em A RoRad 5 A B EDRGE in 1922, FIBR ot £ B, 2 H

RhRFIENTE 1922 SERTE R AW EGRERINC A 8 F2), MU 1L % 58 8Et,

C[Al. BB EERY, SERRZE, Mz HENES, XA LHBR[B] . [DIM .,

#17 suppose(%A8) KR shEE £ & &, Fr AR IZHERR[Clo

. [B]. as soon as 5|5 #J&RF[E)AR1E M H], be to do sth. J&H 3hiAl A & KRR ¥R, )5 1)

IR A — MR e B BB AE SE RS . (AL [D]PII A 2 8512, [Clfinish ZEUK finishes 4
Eﬁﬁo

. [C]. at this time H5E BT S5 H B EHFFTHT, M tomorrow X i€ T 1% /8) F — BORE kb, B

FERGFIE, WX AR TS

. [D]o JEEA T they TEH R facts, RENEHKZH . ERNESH, shid + 7 6L

HEELMAEEBER, EARAF facts ZIA to BIEIE,
[D]. BF[EIARIE by the end of ... HE A \) W 1% F 5€ AL AT ; this month P58 5V 1% Bl #% Skie ;
& Bt A m) R R R INE—EE#H T,

- [Blo A RFRATTRISR SN E R AW R, FH —ENBMEAE.
. [Blo Once 51 F#JE —A FMARIE N A, £ 4] BB R ES, I A) BT — i 2L 7E Bt sl B 7 58

it

preiE

. One of the essential features of the modern skyscraper(FE K K#%) is being the elevator.

[A] (B] (C] [D]

. The ocean liners that used to cross the Atlantic Ocean now specialized in cruises.

[A] (B] [C] [D]

. Collecting dolls as a hobby becomes increasingly popular during the past fifty years.

[A] [B] (C] (D]

. How many people remember listening to Orson Welles 1938 radio broadcast, “ The War of

[A] [B] [C]
the Worlds”, which convince thousands that space aliens(#M 2 N ) had invaded the Earth?
(D]

. Because of the effects of tidal friction( BE# /1), the earth’s rotation, which forms the basis

[A] [B]
for time units, is gradually slow down.

[C] [D]

. When the concentration of calcium(%5) in the blood is too low, the parathyroid gland ( H

[A] [B]
JK3Z2HE) began to secrete the hormone parathormone( FARFZARIE X)) .
[C] [D]

. Human living in the Pleistocene epoch( ¥ #1t:B+#) survived in part because they are able

[A] [B]

to turn useful inventions, such as stone tools, into community property.

(C] (D]

. The formation of snow must be occurring slowly, in calm air, and at a temperature near the

[A] [(B] [C]

freezing point.
[D]



9. The development of sailing as a sport has begun when sailing ships declined in commercial
[A] [B] [C] [D]
importance.
10. The site of St. Louis was occupied in  prehistoric times, but the present city
(A] [B] [C]
had been founded in 1764.
(D]
11. Although I have lived in this country after last September, I still have trouble getting used
[A] [B] [(C] [D]
to American food.
12. Even though Sedat has been studying English for three years before he came
[A] [B]
to the United States, it is still difficult for him to express himself.
(C] [D]
13. After driving for twenty miles, he suddenly realized that he has been driving in the
[A] [B] [C] (D]
wrong direction.
14. When I last saw Janet, she hurried to her next class on the other side of the campus and
[A] [B] [C]
did not have time to talk.
[D]
15. Yesterday at the meeting they sticked to the point that Mr. Wang should not be punished
[A] [B] [(C]
for all his mistakes.
[D]
[EX]
1. [C]=>Dis, FRREKEF K AHH3hiEEEE RH#ITE, ZLUH 31FEH belong to
(J& T), consist of (Hj -+ ZHR), appear (!24R), seem(ftl-F)%,
2. [D]— specialize. 7] 8 9K € 1 ) o I 0 2o 0, (B E ) A B B R BLE MBI (i
B ARIE now) o
3. [B]— has become, ] & during the past fifty years Bt [EPRIE (FE3d £ /7 50 £E[8]), F#R

M 2% 2 BUAE (9 — Bt (] 4 & A= 0 S04, 17 {3 I BL7E e IR

4. [D]— convinced, M &hFAR )Rt F: (1938 ) Ark EITE D o
5. [D]— slowing down, JAbfE F#)ZIAEH TR, ROREB0IA slow BXA (is) slowing downs,
6. [C]— begin, ARFFRBHE MM S, H N4 H = —RBUER, Bril 45/ [F

FERIBT A,

. [B]—> were, A] fif % iR # 2 1 2 K B s (8] o fF % 42 89 $54%, the Pleistocene epoch & X

CERTHE RS AL B R R AT, WA E A B IE 301 survived BB R A (o &
) P i E R R S LR SBR[, BEAR N RIe W B R — 0 14, 4w R —
flead Zemet, M) LR A A —FER RS .

. [A]— must occur, BELALRUAR 22 WL 8 FLIE, 7 IE5R I IE1E & A 09, BOH — R AT,

O FHKRE B, ERE R "o PLREL.

big had



10.

I1.

12.

13.
14.

15.

. [B]— began. when 5| G #4 8} [RIWRE M) o 5 (92 —Md £ 0, BIA B #Yad 5—0Y

ZI (i ARG, Bt 32 ) HAE A — M £

[D]— was founded, 1764 4F&— -2t F=HJBET[E], B I Bhia Y 1% B — ot 258t ANEAZ the
present T3

[B]— since, 7E Although M) 91, ) F & B 75 2 52 MBS, (8 0 5 A A e) AR 7 R RE 2
Sinceo

[B]— had been studying. Sedat ¥ ~J 3iF & 7E fil e 3¢ [E 2 /i A& A= 69 F4%, i fh ok 2 E A 1Y
St Femt, BrUA [ BN % At 2 s e, RoR“a @t £,

[B]— realizes. EEi% M\ /] H #g 2 B 7E 5 BCHEA T B, 181 0k 3 /) a2 201 FH — MR B AE BT

[B]— was hurrying, Janet 24T 7 [A] SR 223X — ShVEZE 7 WA M AT IE 78 & A4, B WY 1% B T
KHITRE,

[A]— stuck. M4 stick #3220 25 50181 /2 stuck, J& AHLINAE 1k Bhidl

-l ==

HEA
. Orchestral instruments under the following types: strings, woodwind, brass, and
percussion.
[A] grouped [C] can be grouped
[B] can group ’ [D] to be grouped
. No matter whatever , let me know immediately.
[A] is happened [C] will be happened
[B] is happening [D] happens
. The cloth won’t bear .
[A] to wash [B] washing [C] to washing [D] for washing
. Upon your graduation from school, how well will you for the job that lies ahead?
[A] prepare [B] prepared [C] be prepared [D] are prepared
1 that she would come to see me; but she didn’t come.
[A] expect [C] have expected
[B] was expected [D] had expected
. Gregory told Mary that he what he was doing during the vacation.
[A] had just been asked [C] was just asked
[B] had just asked [D] just asked
. Scholars about 3,000 spoken languages.
[A] were counted [B] have counted [C] counted them [D] who counted
. Ground plans and contour(%¥ 5 28) maps of the Earth from aerial photographs.
[A] can be drawn [B] can draw [C] to draw [D] drawn

. The southern tip of Florida would be tropical evergreen forest and swamp if it



undisturbed.

[A] left [B] were left [C] leaves [D] is leaving
10. This washing machine by my brother right now.
[A] been repaired [C] is being repaired
[B] repaired [D] being repaired
(EX]
1. [Clo HWr EHINER, RBER L HEGTHITIEIENENNE, A0 EERS BA
REEH 2", HABaES.
2. [Dlo no matter 5| F# A FEA G A2 — A kB ARIE 4], F0) 2 — At fd ) 50— M

e, Ia] R A — B TERT .

3. [Blo bear EHIESAFIER, 8N X EWEE L, BUUMIFEH need, want,
4. [Clo AAHHIEIE you RENEHI AR ZF, FIHERH#ENES.
5. [D]o #hid expect, think, hope FIid 2558 MUY 2R — Fri A 92 L i I B, 38 R . “ Wi

CGAA, FE)

. [Alo Gregory &1F Mary W 45 R R ETEVFR ZHT, FBTLL that J5 T8 ) 518 I 8] W02 H

I RSERET, [C].[D]$51R, ask FEMLAL R — D R Yshia, Wiz BiE, R4 305
&, A EIE, TUABI R IRA . A4]1% 3 : Gregory 5 1f Mary NI A # A v fth {8 3 1
HATo

7. [Blo & scholars BB {EHITHE, FFrUAH £31ES,
8. [A]l, HIERMHIE EIMESXRERINEN AT E, ERHBENES.

—

1.

. [Ble AAHEEINES, RARSWEN FELME ., it 3§ the southern tip of Florida, %

HEHIRZ &, BT AR — Bt R e s shig 5.

. [Clo right now(BLFE) B E AR BUAE#EAT It o BEAR VLR BB A X &, Pr LA H 8 i

Bo GEBE, ABIERETY A [Cl,

PrEERE
When a spinning ball bounces, some of the energy contained in its rotation can transferred
[A] [B] [C]
to its energy of forward motion.
[D]

. Cottage cheese, an American favorite, can made easily at home from milk, lemon, juice,

[A] [B] (C] [D]

and salt.

. The ceremony of marriage in the United States can be performed from a justice of the

[A] (B] [C] [D]

peace.

. The plague was broken out in London that summer, and hundreds of people died, including

[A] [B] [(c] [D]

many children.

. As the proverb says, “ Good medicine is tasted bitter to the mouth.”

[A] (B] [C] [D]



6. It was quite obvious that those problems were never paid attention by designers.
[A] [B] [(C] [D]
7. Sixty-seven women have served in the U.S. Congress since the first woman elected in
[A] (B] [C] [D]
1916.
8. Bees are exposing to many hardships and many dangers.
[A] (B] [C] [D]
9. The doctrine of environmental determinism, which enunciated(Ff) originally by Hip-
[A] [B]
pocrates in the fifth century B.C., enjoyed a great following in the mid-nineteenth century.
[C] (D]
10. He quickly stepped on the brakes, and his car came to a stop just in time to be avoided an
[A] [B] [C] [D]
accident.
[EX]
1. [C]— can be transferred, A8 SESNAW W SESHB R, WEBEZ AP L% H
o LA can #1 do A, B NE S A : can be done(—f&FLZERT), could be done(— %
1t Z0t), could have been done( 5EA{AT) o
2. [B]— can be made easily, cottage cheese RINERI K ZH, BERHBINES., ABIEBM K

AEEE 1/,

3. [D]— performed by, fE8 3B H, SR BATE HTE R /i by,
4. [A]— broke out, break out B— N R shial s, ReeH EMED, FEEABINES,

. [C]—> tastes, taste &— & R NiA, WiZH EES. LUMFEEE feel, smell, sound,

seemo FF#, X 4017 )5 [ BAETE AR, A REREEIA

. [C]— attention too BBNIFAZSH“Bhid] + AiAl "4 AR A BT 1E 26 0 S BB R, RRE G BE A

ilo

7. [D]— was elected, the first woman fE#IEZEHIXTE, IV 4 AT INES,
8. [A]— exposed. expose f&—1> KB, A B+ bees & expose WK Z#, BHWINIES.,

10.

. [B]—= which was enunciated, 7=l 9 which # 5% 477 /& the doctrine of environmental

determinism, {EA—FIEiL, ZHRHA, VY HHENES,
[D]— to avoide K¥IBNiFE avoid J5 H H HEIE, 17 B =] AL ] ZE i TR TR e S,
HHARE RS NES,

TR I =

M=

. The judge assented to the suggestion that

[A] both of the criminals will soon be set freedom
[B] some of the criminals there are of guilt only

[C] the girl was to be paroled in the custody of a welfare society



10.

11.

12.

[D] the prisoner be sentenced to death

. If the United States had built more homes for poor people in 1955, the housing problems now

in some parts of this country SO serious.
[A] wouldn’t be [C] wouldn’t have been
[B] will not have been [D] would have not been

. George would certainly have attended the proceedings

[A] if he didn’t get a flat tire [C] had he not had a flat tire
[B] if the flat tire hadn’t happened [D] had the tire not flattened itself

. If you had studied the problem carefully yesterday,

[A] you won't find it difficult now [C] you would not find it difficult now
[B] you would not have found it difficult now [D] you have not find it difficult now

, John would not have failed.

[A] If he has listened to me [C] If he listened to me

[B] Had he listened to me [D] As soon as he listened to me
. If he the detective honestly, he would not have been arrested.

[A] would have answered [C] should answer

[B] answered [D] had answered

. From the standpoint of the long-term strategic interest of the West it is imperative that

[A] their territorial unity being a safeguard [C] they're a territorial safeguard

[B] their unity is a territorial safeguard [D] their territorial unity be a safeguard

. The chairman requested that

[A] the members studied more carefully the problem
[B] the problem was more carefully studied

[C] with more carefulness the problem could be studied
[D] the members study the problem more carefully

that the time will soon be ripe for intervention in Iran, they would be faced by a

large army.
LA] It is believed [C] They would believe
[B] Should they believe [D] If they would believe

Through the centuries the world would have made little progress
[A] if creative thinkers will heed such counsel

[B] than creative thinkers heed such counsel

[C] but are creative thinkers heeding such counsel

[D] had creative thinkers heeded such counsel

The committee recommends that the matter at the next meeting.
[A] would be discussed [C] be discussed

[B]. will be discussed [D] may be discussed
What type of automobile would you buy ?



14.

15.

16.

17.

18.

19.

22,

0o
(98]

25.

LA] il you have free choice to choose the cars available today
[B] if you are free to choose among all the cars available today
[C] if all cars available were free to be chosen by you

[D] if you were free to choose among all the cars available today

. I'd rather you anything about it for the time being.
[A] do [B] didn’t do [C] don’t [D] didn’t
I known it, I should have told him.
[A] Have [B] Had [C] Having [D] 1If
I think it advisable that he for Tokyo soon.
[A] will leave [B] may leave [C] leave [D] leaves
If he didn’t promise it yesterday, still he it tomorrow.
[A] would not promise [C] should not promise
[B] will not promise [D] could not promise

The doctor insisted that his patient .

[A] that he not work too hard for three months

[B] take it easy for three months

[C] taking it easy inside of three months

[D] to take some vacations for three months

I Professor Jones had taught me this equation.
[A] believe [B] wish [C] deeply think [D] am guessing
If you hadn’t gone with Tom to the party last night,
[A] you would meet John already

[B] you won't have missed John

[C] you will have met John

[D] you would have met John

. If you to see Mary, what would you tell her?

[A] are [B] will be going [C] must [D] were
. But for his help, I

[A] should not have succeeded [C] did not succeed

[B] had not succeeded [D] have not succeeded

I told him how to get here but perhaps I him a map.

[A] should have given [C] ought to give

[B] had to give [D] must have given
. If only we the manager’s advice!

[A] had followed [B] would follow [C] follow [D] followed
. My idea is that the meeting until further notice.

[A] must be postponed [C] should be postponed

[B] will be postponed [D] postponed

Supposing you five bottles of beer, do you think you would get drunk?



[A] were drinking [C] were to drink
[B] have drunk [D] drink

26. , I will take her as my wife.
[A] Were she rich or poor [C] Be she poor or rich
[B] Being rich or poor [D] Whether is she poor or rich
27. But that he came to help me, I
[A] could not have succeeded [C] could not succeed
[B] did not succeed [D] can’t but succeed
28. today, he would get there by Thursday.
[A] He is starting out [C] Would he start out
[B] If he starts out [D] Were he to start out
29. It is not strange that the new machine two small electric motors.
[A] powered [C] has powered by
[B] was powered [D] should be powered by
30. Hadn’t my car broken down, I the train.
[A] should have caught [C] could catch
[B] might catch [D] had caught
(ZxX]

1. [D]. suggestion( 1% ) )5 H R A7 [F] 215 I /a) 7 24 B 45 KB “should (75 B A DL 7 B% ) +
AR,

2. [Al, ABREGRFEMAR, FAERIENGR B L6, HEIESNV %R had + 2 25
"7 B FE A AR R SEAEN LA, B AN Z F “would + BhiF JRE”

3. [Cl. ABERGE LM FELMIT, BT UAKMA N 24 “had + o 43187, BrLh A5 45
i®Ro have a flat tire(4#18) BB E . YRR IEBNA U+ FE1E + had. .. FHY, if A
B, 48 had SR E A1 E, MBS, BI[CIMER,

4. [Clo %628, EE F 5 #EfE & now.

5. [Bl. % 35,

6. [D]., Gt ERFEMIT, RORE N A “had + T £ 52377 Ko

7. [D]. #E“it is imperative + that- I\ 7] " iX — 2544 1, that- I\ 5] B B B #E S, Bl “should(FH
AT LA ) + BhiF R .

8. [D]o request J5 H %18 /8] B R ERLE S, Bl “should (G B AT A BE ) + s JFIE ",

9. [Blo ABRREHMEN F LR, NATH“if + F18F + — Mt Bod7 sk H “if + £iF +
should + A JFIE” . J5 # #) if °] LA ERETT4E should $2 7T, BUE %254, BP [BI&E X,

10. [D]. % 3 &,

11. [C]o recommend /5 H ) E1E N4 E B EHLES, Bl “should + hid JRFE ", F Bt should 7]
PLEHE

12. [D]. RARSIAEMFEMEN, FEREBENGHER R i+ EiF + AL £2R", £R

S EMHEMR, A “had + 1t 2R E R, B SKRWE LA R, Hahiad 1.
“should + Zhia] B " 8L were to do X,



13.

14.
15.

16.
17.
18.

19.
20.

21.

22.

23.

24.

25.

26.

27.
28.

29.

30.

—_—

L

2.

[B]. 7 would rather JEHE AN A)H, EHERIER . FIMIERN FLMIR, H — et 0t
[l 25 # SF LA 2, O 25 SE RRY o

[Bl. [% 3 &,

[Clo “It is advisable + that- M\ /A" 1, that- \ 5] 2 H “should + Bia] JRFE ", should & B B] DA
HHE

[Blo AHARZBIIES, MRARGRSE, BT L34 ZH — SRR e,

[B]. insist /& #2135 N A)EH EUES, B “should + BhiF R, should F B a] LA &R .
[Bl. &A% % wish /5 HEiE NG W EENES, ABFRR S 50 $F 94 5, H3E Prof.
Jones A HIHX AT EA

[D], &BRERGTEHH LR EUE.

(D], 2585 A0R0E I a) B B =& if + 18 + were to do"TERX, FRG¥HRME L.
"] L if you should do FE R,

[A]. but for (5, EARE - ) Ji T 4% 44 6] B 4% 1R RS, B S T ) A B F B LE R
WHRR G LR F LA REF, F“would / should + have done” T ; & 4% 5 BLAE Ay $5 5L AH
J B, i “would + iR EIE "X, AEEE —KEE,

[A]l, ZEEEFEMERT St L FLHIMEE . should have done 454 F K F ik “ A
HeiZeeroo, (HEPR EIZRA - ) "B, REFECRETF 7 anfal i L, B4 K%
S —E R . S BRSNS A S A,

[Al. ifonly (HJE---) G H A FEHEMIER. Xn 5 X8 FLAMHRE A had
done B ; /R 5 IAERY 30 AH I B — Mt 2eB . ABUR S — K.

[Clo idea( 8% ) /5 893 1H M\ B) S [] 62 7 M\ 5] 2 F K #0018 <, Bl should + 3hid] JRTE " E
., should B 0] LA 48

[Clo suppose(fRi%, %) J5 | M sh 1L %A K 4, B E H RR BRI E; i A5
B IUE A, BT LAR were to do 45,

[C]o be...or... tH2 T no matter. .., ;& % %, be she poor or rich = no matter she is
poor or rich(NE M ZIFFRE ). X2 ELIEE R4 oy A F 1.

[Al. but JEE#ENG], JFHEH K EMEREIIES, HE XS but for 7. %5 21 8,
[D]. ABHFRMER I+ E1F + were to do” 4514, F/R 54 iy F LA X, X Bt if A LA
HHE, 48 were $£ FE FIERTHE .

[D], it is strange that... X —%45# 9, that- 6] 2 H B 5K, B “should + Bhial R,
should H B A LA 8% . AEAH1 A new machine RENEHIRZ#H, HILERHHENES, XH
HEmERELE important, imperative, necessary ==,

[A]. A& hadn’t my car broken down = if my car hadn’t broken down, - 51t &9
SEAH I, BT LA F 8] 1Z B would / should have done 454 .

preEm
He looked like he had been in some strange land where age advanced at a double pace.
[A] [B] (C] (D]

I wish I knew you were arriving today. I would have met you at the station if I had.

[A] (B] [C] (D]
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10.

11.

12.

13.

14.

15.

16.

17.

. The irritable sergeant was insistent that nothing supersedes the drilling of

[A] [B] [C]
the forty new men.
[D]
. I suggested to opponents of video games that they considered a paradigm of Gutenberg.
(A] [B] [C] [D]
. Violetta has a curious expression on her face as though she was smiling about something
[A] [B] (C]
that amused her .
[D]
. The report would be released last January if new developments had not made it necessary to
[A] [B]
revise all conclusions drawn from the first series of experiments.
[C] [D]
The complex society of a modern civilization would be impossible not having the art of
[A] [B] [C]
writing.
[D]
. It is extremely necessary that you will realize that reading is not only a physical and mental
[A] [B] [C] [D]
process.

. Top-grade diamonds had not increased so sharply in value in the late seventies if one com-

[A] (B] (c] (D]

pany had not controlled almost all of the world’s supply.

Mary couldn’t have received my letter; otherwise she went to the concert last night.

[A] [B] [C] [D]
Some of these advances would not be possible but for the early efforts of men like Hunter.
[A] [B] [C] [D]

She began to be worried lest he met with some accident the day before.
[A] [B] [C] (D]

[ would rather that they do not travel during the bad weather, but they insist that they

[A] [B] [C]
should return home today.
[D]

He is always talking to me in such a manner like he were my boss.

[A] [B] (C] [D]
Because of the heavy fog, we should have reached our destination in time.

[A] [B] [C] [D]
Educators are now recommending that reasoning skills are emphasized in the classroom since
[A] [B]
recent tests indicate that many teachers in the past have ignored these skills.
(C] (D]
If I would have followed his suggestion carefully, the result of the experiment would have
[A] [B] [C]

been conclusive.

(D]
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18. I sometimes wish that Deer Creek was not such a little town.

[(A] [B] (€] (D]

19. She wishes that we didn’t send her candy yesterday because she’s on a diet.

[A] [B] [(C] [D]

(ZFxX]
1.

[A]— looked as if. look like &7 like /& —4~4 i, J5 T AN REIZEA] F . look as if A[4&H]F, M
HEFERHEBEMIER.

. [A]— I had known. wish JF I EEN T EHBILER. £S5 X0 F LR, 1A

1 % 52 AT

. [C]— (should) supersede. insistent %2 Zf117] insist BT AR R, )5 H # F 15 N5 EH E L

1B “should + FiF JRIE”, should H B 7] LA HBE

. [D]— (should) consider, suggest FI{E“&iY, I, FHEHMEENTDEREMES

“should + BhiAEIEIE”, FrLAZASA] 9 considered SV EX X should consider, B{# & should,

. [C]—= were smiling. as though=as if, /& /M 5] B UE S, be 37 B H were 11 A

IEé waso

6. [A]l— would have been, AR 513 AW FLMIT, LA F48) 24 H would have done £544 .
7. [C]— without, not having 1A —~4 18 5 1& N EEA B F A RIER E &, without 5| F#)

IR R A RER B R A RTE R AR o

. [B]— realize, TE“It is necessary + that- \8]” 1, that- N8 & H EHLESR .
9. [B]— would not have, F/R51t F: /) 3 3L AT, B IIE S 35 /92 XY 24 /& would have

10.

11.

12.

13.

14.

15.

16.

17.

18.
19.

done #5#4, M\ 7] /2 had done 514,

[C]— would have gone, otherwise( & M) J5 I EHBIIER . X5 L/ F LM, N
F would have done Z&5#4

[B]— would not have been, fREA R, AR 5 X F LA RWF R, BRIEIN Y H
would have done #JFE R, but for 72 B IIE A br .

[C]— should meet, lest J5TH F EHLES, HH I X2 “should + hiFA JRFE”, should F B
AT LA

[A]— did not travel, would rather |5 8 EHLIER T RS I E SR K6 F LA at, B
— it L0,

[C]— as if/as though, 471d] like I~ Al )5 #%5A]) Fo R as if 3 as though A BEIZEHIE
KT,

[A]— But for, because of &/ RIEH, REAE, AR FHEIGEHNE. but for(E5, B
) 51 A RIE, Y T — D R ERIENE, BT ZEHEER.

[B]J— be emphasized, recommend(##£) )5 [ ) 2215 I\ 1) 2 B B 115 <, B “should + Bhid]
JFHE", should A B} A LA & B .

[A]— had. BINESR LR 5t 209 F LM AF, &40 1E N E H had done FE R, 34 H
would have done £,

[Cl— were, BHMES 1 ER7 5B AESORE R A LA B, be 317 HBEH were.

[A]— hadn’t sent, wish IFHEE A HBHRUESR . Fn 5 E0 F M et 24 had
done £ 3K,
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